CLASS10 ICT CHAPTERA4
PYTHON GRAPHICS

@101 B21EBLOOMOEBRUY  B8IWo : 1

turtle

i range (0) :
forward(100)
left (60)

AHSIT HHIFOM G@)IWIo 06N HalYE|IUB BT GAROOHAMFIOLI HDQG” BHOO6Mo

invalid syntax agyam avemwnosm” ol tuElwow MIBEZW6 af)a»Iem” ?

A from turtle import* B  foriinrange(6)
C forward(100): D left(60):
Correct Answer: A  from turtle import*

2. 99alomeMm (WIanld GOWINHBOS B8DZaS” LISTESMD® agafles?
A 90alomed Heuelo B IDLE moeis:0mod
C O IOMEN (NIab1d TV RILIGHO @3 D @YOAVOIG3

Correct Answer: C  06aclomend (Hoabld: 0 20L1800 103

3. M1eImoomMI@3 MVA2IDO0 QIR 2JAIAM 100 MTOSEAINM0 TV, 3@ GJIW20
®Q088). af)io@d @@ color("red") agamaidl emgossman”

@OWL0a 1M @RAICMIS al0a0R). af)aMIEM” VVE1WIW MIBE3UWo ¢




A  color("blue") B  color("red", "blue")

C color(red,blue) D  color("blue","red")
Correct Answer: D color(“blue”, “red”)
turtle *
forward(100)
left (120)
forward (100)

DD HOICMENI GaJoWIo (@JAUBOMa [12]0@3 LIS1ABIM Balo af)aMIEM ?
A 60° @GRBOIBB BHIGM B 100° GREBOIBSB BGHIM

C @16@H06Mo D 2l®0o

Correct Answer: A 60° Gosoyss ca06m

. MVAI®Oo MBGMATHEHIMIWT IL] @ QYINIBH]IW D HEAIOMENY GJIW20

@JIBOM]a{l2jGa]oUd TVAI®Ee LIlaflel . GaJoWIR]oLl aB® M1BERUMIEM”

002219 OGO ?
A from turtle import*
turtle *
i range (4) : B foriin range(4):
forward(100) C forward(100) D  right(60)

right (60)




Correct Answer: D right(60)

6. ®™oe¢ OBHIFOMIZBIAUWV]@ aB@IEM” OO IO G(JoWIn1eEE1e3 S331G3
(@WIO1BEHAV (@JAUBBNDH M AHHANIBBMMN M M@IBHNZ M1BG3UD0?

A clear() B begin_fill()

C  from turtle import* D forward()

correct Answer: C  from turtle import*

/. om CJoWIA1n3 B8DFaJSIM af)(@ YOMEEBUS DN20WV101H830?

turtle * A. 20 B. 10
1 1n range(10,31,20):
circle(i) C.4 D. 3

Correct Answer: D.3

8. 99aI1omeM G DalcWIW]a) a106Qem M1BM1HBEMINUE o ldGQEMIDLI QIOGUIH

Mlel Moo 2IE1eHIM aB® MIBEZUd0 MMIBHEM?

A  color(blue) B color blue

C color("blue™) D color "blue"

Correct Answer: C  color("blue")




9. @GRM ®QYINIGHW D HPAIEM GO0 @JIB@™a [l2]CGaoud IS

B85 alg af) IW1B1H830?.
turtle * A QLOAI®OO B @1@HHI6Mo
i range (5) :
forward(100) C QUDAIeIBRo D UAEHAWBERo
right (72)
Correct Answer: C VDA IEMISR0

10. 8@ auoem @1eHI6Mo MIANABM]INSS  HOAIOMEND  G@JIWINIE]
MEVIBlHBIM®: 2JAlOS @ANIZBBDIG MMM’ aG®” MIBEZU0 DalGWIW]2JILI6M)]
@16HEMON]HG AUAHB6S ANl MIBMW TN BHP1QY:.?

curtle \ A pencolor() A pencolor()
] range(3):

forward(100) C pen_thickness() D  penling()
right (120)

Correct Answer: B pensize()

11. oY ¢jowoMemd 85050V LIBGRMM  GaloDIM’ a@QYMIQ” MIBASS IKdo

9210 E830?
A 144 @y B 100 gmg® C 100 @mg D 6 qmg

Correct Answer: B 100 @mg” mIgnss aivo 9mzow1@lese




12. turtle *
i range (6) :
forward (100)
left (120)

QHE103 NTIH1VIB1H80M G@JIWIAT MICVAOOD AIGIVIM3 af)ID MOQo AUBOM1WIG3

MVDaHAW BRo LIG1H630?
A right(90) B right(120)
C left(e0) D left(90)

Correct Answer: C left(60)

13. o6aiomend @oalldy’ G@OWINI@  2JaIaN MIOOMI® Galo QAUCQYHHWQo
QAUQ2|DIMWCWaHo Ml Moo MW HBHWQo  H2IQYIW  MIOY®  HHHIFO
a@® M1BG3UMIM” MVI1HHA1BHHMBD ?

A. pencolor("blue","red") B. pencolor("red","blue")
C. color("red","blue") d. color("blue","red")

Correct Answer: c. color(“red”,"blue”)

14. 8® 00alomeM GEJOWIRIT @YUM MIBEZUAMIMGHO™ afleNgo @RYAIA
@®]2] QIGEME MIBEZUEBBUS nBD GalGBlLINEM” BRO1WeR AN ?

A gjof B 000I® gja] C GanIB EJa] D OMIVW Baf

Correct Answer: D emayaw” gof




15. 99a10me VIOl GIIWINMHSEIT, GaleaBglad Moo MOLBIN@IAVEAIME]
oatcinlasan begin_fill() agon mdegweomos’ caidmo ma@emms MBE3wo

ag)ao” ?

A pencolor() B endfill) C stop_fill) D start_fill()
Correct Answer: B end_fill()

16. 0™ GJWIA@3 for k in range(4): af)aM MBEBU0 af)ATVSB®IGM” ?

A Moei” alMO6BRUT AIQHBHIM
turtle * ) y
B moel’ a1y’ MIBA8R QIO QlEHHID
k range(4) : y
- C MoLi” ®MAIeM @RI 1H6IND
forward (100) D moel’ QJOmEBBUd AIEHHIND
right (90)

Correct Answer: C Mmoel’ m™AIaM @RYAURO1H6I03

17. ®@amolesan celowdo @JIB@™a[12J0@3 LIS1ASOM (HaIONI@3 af)@ QYO
683U0 ©MBIWIB1H830 ?

A 50 B 6 C 60 D 10

Correct Answer: .B 6

18. 9ea1omem (WIa0ld:’ RILIGHOMG HdGSIQYAN AEG:U3HH” M1eIMm0o M@
OMBB MIBEZU0 2JQINS MBI 1WAINGE a®?

A cr("blue") B linecolor("blue")




C pencolour(blue) D  pencolor("blue")
Correct Answer: D  pencolor("blue")

19. 210195 6B050BZEB0IVNTE aGDeM” BT B! JEE

A  =Ncwixlen B VM BHIHE”

C oosavemal D o6aciomed

Correct Answer : D ooaciomend

20. 9oa1omend ¥WIarld:’ 20LIBOOE] QAUOBHGo af) EODHBo aBaNadW]
SLIOMIGBAUIM DalGWIWTABIM MIBE3U0 af)a® ?

A  clearscreen () B clear()

C clrscr() D clearall ()

Correct Answer: B  clear()




